S HDEYVITRTRRZEFPLIERR T EFEREMRA—E (ERENREFTEES)
X WE#ETOERE  ERARS Eﬁﬁﬁﬁa&&lﬁﬁﬁﬁﬂ#ﬁaﬁmﬁﬂl_omtﬁﬁﬁE#Faﬁ?&&i—‘EAL'CG—éL\
X x EH1 & . FEALELTEEL
HAAB $M & A B FARKE%
[AEMERDOER]  4BT:9:00~12:00, 1% :13:00~17:00. R : 17:00~21:00 THZEGEMEES: Eiﬁﬁﬁ#lﬁﬁlkxmfi@m

OF AAURERRX D EEH 9 10 11 12 13 14 15 16 17 18 19 20 21 L] & ®E | mmees | BBERE | * * OF1 | &l Fi& R’ | wmees | BEERE

O | y3oFn#H 0 8,100/ 10,900 10,900 2,700 h 8,100/ 10,900 10,900 2,700 h
—BAUREUR 4,700 10,200] 13,700 13,700 3,400 h 10,200] 13,700] 13,700 3.400 h
—BAMY-NYHREUN 9,600 12,300 16,500 16,500 4,100 h 12,300 16,500] 16,500 4,100 h
[GEEnFEA]

OFH = % 9 10 11 12 13 14 15 16 17 18 19 20 21 EmER | RN | FEER |+ OFn 1R | ERARE | FRAER
AESEEE 1 (94309797 H) 520 h 520 h
RKEEEE 2 (9F-3097y7°H) 520 h 520 h

" 3 1= (DS 18 210 h 1R DE 185 210 h

" 4 (A) 420 h 420 h

" 4 (B) 420 h 420 h

BXRE 1 (Uy7—ERTE) 840 h 840 h

BXRE 2 (UyT—{EfTE) —r 840 h — 840 h

BRE 3 (v T— -[FATE) 1EISDE1EH 840 h 1EIDE1FH 840 h

BKRE 4 (Uy7—ERIE) 840 h 840 h

ng_jz ; 12 DE 1S 188 : 1R DE 1B 188 :

#E 1 (EFREECN-EVTR) 210 h 210 h

n 2 (1R8H) 210 h 210 h

n o 3 (U¥7)—EmfFE.EFFARA) 1R ([C D= 1B 320 h 1R (CDE 1R 320 h

no 4 (U )—-EEFFE BHA) 320 h 320 h

n 5 (BEErfdE.&RER) 210 h 210 h

REE 2 100 h 100 h

n 3 100 h 100 h

"o 4 100 h 100 h

T 12 DE 18 420 h 1= (2D 1R 420 h

"6 210 h 210 h

no 7 210 h 210 h

n 8 210 h 210 h

BOEZE 1 210 h 210 h

"2 12 DE1HE 210 h 1= DS 1B 210 h

n 3 210 h 210 h

5EJE 301, 302, 304, 309 (22m *ki#) 100 h 100 h

1 401,402,403, 404, 407, 408 (36 m ki) 210 h 210 h

n 303, 305, 308, 310(50m ki) 1R ([C D= 1B 320 h 1R (2 DE 1R 320 h

n 101, 201, 306, 307 (64m k) 420 h 420 h

1 405, 406 (64mLL L) 520 h 520 h
HEE 1~14 1=(ZDZ18 7,400 1=(ZDZ1H 7,400

8 T i& WS | emmes | B EEER ] Fi% wRE | wmees | HEERRE

BHAESLUEBERE (EHEENELENES) 31,500] 41,900[ 41,900 10,500 h 31,500] 41,900 41,900 10,500 h

HAERLUERIEERE (ZFZBMETIEY) 63,000 83,800( 83,800( 21,000 h 63,000 83,800 83,800 21,000 h

(ExfEDEM]

OFn % & £ 9 10 11 12 13 14 15 16 17 18 19 20 21 B Rk | AR | SRR | * O 2 OHn B f [ERE | AR | R O 24
REREEE (R EAXFEA 1R ICDE 8,100 h 1EREICDE 8,100 h
(B1EXREER) [LEME 15 2DE 8,100 o) 19 zDE 8,100 o)
AEBRREEE (ALAD HAREHA 1EERICDE 1,700 h 1ERIZDE 1,700 h
(REIXRIEER) [LEME 15 2DE 1,700 o) 19 [DE 1,700 o)
A E (BRI RIERER) 1EERICDE 590 h 1EREICDE 590 h

£ AT 1,50009Z 17,800 h 17,800 h
2/354T 1,000L92 11,800 h 11,800 h
- 1/2854T 750 LA _ 8,900 h _ 8,900 h
IR IR 1/354T 500L9Z 1RO 6,000 h RIS 6,000 h
1/5854T 3009 3,600 h 3,600 h
rSwoa—)LERER 3,000 h 3,000 h
X BRNEEMETSHIEE. LRO2(545E (FEBENER & F TE ]
(&SR]

OFHI i an # 9 10 11 12 13 14 15 16 17 18 19 20 21 B {I Ed5ks] s FA B AL * OHl B I 5 FA# {58 P B AL
Yuh—RHE—HK 18IZDZE 4,000 18IZDZE 4,000
SE—RE—=K 18IZDZE 3,800 18IZDZE 3,800
ErHmEAE (EEHTEEEZRC 1HIZDE 21,000 1HIZDZ 21,000
BEEHIEEE 1HIZDZE 16,000 1HIZDZE 16,000
Firybstyis 1hfRIZDE 1B1ARTIZDE 950 4R 1BIZDE1HFR 950 Vil
i Beby] VAL 3 18I20& 1H1&8[ZDOF 3,400 =} 1TH1R/IZD&F 3,400 a
[BE=ERDFERA]

OHl li% A % 9 10 11 12 13 14 15 16 17 18 19 20 21 il 1% wRE | wmess | FHEAH * OFl | 4Fail Tk WA | wmaes | FRAEK
TLEE=4—(28H) 950 1,200 1,200 320 a 950 1,200 1,200 320 a
ESA=ux 950 1,200 1,200 320 S 950 1,200 1,200 320 a
PCXETOS 74— 1,200 1,600 1,600 420 a 1,200 1,600 1,600 420 a
A= 320 420 420 100 =} 320 420 420 100 =}
<A RE 950 1,200 1,200 320 a 950 1,200 1,200 320 a

D& | * @EmEEt
[ZDHhEERDFER]
OFn = % 9 10 11 12 13 14 15 16 17 18 19 20 21 [ﬂ'li@E‘FEIEF'E%;?ﬁ#i] . .
BEEHEE VIPZ o fEMH O O T 4 AL
EREES 7o O# O RERAEER
ZE= 01 - 02 - 03 - 04 - 05 491 58 B 0% 0O& D+@
ME= O1 - O2 - O3 - O4 &R O F O &
2ILE O1 - O2 - O3 - O4 P EIERRFET R I5 O F O &
BRE A5 FHEUR O F O &
ERE Z D (B{RRIIZ)

EiEy O F@m - O FEAER

(Gl )



